Accounting for Materials

(Referring to Session 5)
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Ordering, Receiving and issuing materials
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Ordering, Receiving and issuing materials
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Paperwork
	Document
	Completed by
	Sent to
	Information included

	Purchase Requisition form
	Production department
	Purchasing department
	Goods required

Manager’s authorisation

	Purchase order form
	Purchasing Department
	Supplier

Accounting (copy)

Goods receiving department (copy)
	Goods required

	Delivery note
	Supplier
	Goods Receiving Department
	Check of goods delivered against order form

	Goods Received Note
	Goods receiving department
	Purchasing department
	Verification of goods received to enable payment

	Materials requisition note
	Production department
	Stores
	Authorisation to release goods

Update stores record

	Materials returned notes
	Production Department
	Stores
	Details of goods returned to stores

Update stores record

	Materials Transfer notes
	Production Department A
	Production Department B
	Goods transferred between departments

Update stores records
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Double entry
	Materials inventory account

	Debit entries – increase in inventory

Opening inventory (opening balance)

Creditors (materials purchased on credit)

Materials returned to stores
	Credit entries – decrease in inventory

Work-in-progress (direct materials used)

Materials returned to suppliers

Production overheads(indirect materials used)

Income statement(material write-offs)

Closing inventory (closing balance)
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Control Procedures
	Perpetual inventory
	Recording, as they occur, receipts,issues and the resulting balances of individual items of inventory in either quantity or quantity and value.

	Periodic stocktaking
	Checking balance of every item of inventory on the same date, usually at the end of an accounting period.

	Continuous stocktaking
	Counting and valuing selected items of inventory on a rotating basis.Specialist teams count and check certain stock items on each day.

	Slow-moving stock
	Those inventory items which take a long time to be used up.

	Obsolete stock
	Those items of inventory which have become out of date and are no longer required.

	Stores ledger card
	Card used to update inventory records showing receipts, issues and orders.

	Bin cards 
	Card showing a record of receipts, issues and balances of the quantity of an item of inventory handled by stores.
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Re-order levels
The pre-determined level of inventory at which order is placed, to avoid stock-outs. 
Re-order level = usage per day * lead time in days

When lead time and demand in lead time is not constant : 
Re-order level = maximum usage*maximum lead time

Maximum Inventory level = Re-order level + re-order quantity – (minimum usage*minimum lead time)

Minimum Inventory level (buffer stock) = Re-order level – (average usage *average lead time)

Average inventory = (Re-order quantity / 2) + minimum inventory

Holding & Ordering Costs
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Minimise total of holding, ordering and stock-out costs
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Economic Order Quantity
The EOQ minimises the total of holding, ordering & stock-out costs
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Where: 
D = demand p.a.

C0 = Cost of placing one order

Ch = cost of holding one unit per year

Annual ordering costs = C0D/Q

Annual holding cost = Ch*Q/2 
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Economic Batch Quantity
The number of manufactured items to produce in a batch, to minimise total costs 
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Where: 
D = demand p.a.

C0 = Cost of setting up batch

Ch = cost of holding one unit per year

R = Annual replenishment (annual production) rate

Annual setup costs = C0D/Q

Annual holding cost = Ch*Q/2 (1-D/R)
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Accounting for Labour

(Referring to Session 6)
Remuneration Methods
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·Piecework Schemes

·Total Wages = 

Number of units completed * agreed rate per unit.
·May involve a guaranteed minimum wage;

·May use a higher rate per unit once productivity target achieved

·Higher productivity at the expense of quality?

·Other Schemes e.g. Flat salary + bonus
·Bonus Schemes (individuals or groups)

Remuneration methods - examples
Example

A company operates a premium bonus scheme for its employees of 50% of the time saved compared with the standard time allowance for a job, at the normal hourly rate. The data relating to Job 999 completed by an employee is as follows:

Allowed time for Job 999 12 hours 

Time taken to complete Job 999 10 hours

Normal hourly rate of pay $15
What is the total pay of the employee for Job 1206 for the 10 hours spent on Job 999?

Solution

Time saved=12-10=2hours

Bonus paid=$0.50*2*15=$15
Basic pay for time worked=$10*15=$150
Total pay=$165 
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Direct or Indirect Costs?
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Labour Turnover
Labour turnover is a measure of the proportion of people leaving compared to those employed.

Labour turnover for a given period=
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Low rates of pay (result in higher rates of turnover).

Lack of supervision and/or training.

No job and/or promotion prospects.

Usually closely linked to:

remuneration (i.e. lower remuneration results in higher turnover);

working conditions;

training opportunities;

promotion prospects.

Other contributory factors include retirement, illness, death and pregnancy.
Leaving costs—administering documentation (e.g. for taxation authority and payroll changes) and leaving tasks (e.g.conducting exit interviews).

"Cover" costs—the costs of covering a vacancy (e.g. through employment of "temps" or overtime working) until it is filled.

Recruitment costs and tasks—advertising, selection and engagement (may include agency fees and costs of relocation).

Learning and/or induction costs—may include retraining costs and lower productivity (initially).
Possible disruption of workflow and missed deadlines.
Lower productivity and/or customer service—due to low morale (especially if the person leaving was popular and/ or particularly good at the job and/or remaining staff are required to absorb that person's workload).

High incidence of stress-related absenteeism.

Other staff members expressing a desire to leave.

Offer competitive pay levels (i.e. in line with industry).

Offer relevant incentives and other staff benefits (e.g. subsidised staff canteen, recreational/sports facilities, product discounts, etc).

Incentivise key staff (e.g. with performance-related pay, individual or team productivity bonuses, etc).

Ensure that the working environment is suitably designed (e.g. acceptable levels of heat, light, noise, etc).

Improve pay structures to remove inequalities and ensure that pay system is transparent.

Provide better promotional opportunities (e.g. by adopting a "promotions from within" policy).
Formalise training programmes and career structures within the organisation.

Consult regularly with employees (about morale, working conditions, etc). Provide a system that allows employees to offer ideas for improvements and to which management responds.

Provide staff members with regular feedback on their performance.
Labour Related Ratios
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Definition

Standard hour=number of units which experienced worker should produce in one hour.

Example

Actual output in period                 250 units

Actual hours worked                   420 hours

Standard time allowed per unit          90 minutes

Budgeted hours                                 

Solution

Expected hours to make actual output

=250 units*90/60=375 hours

Labour efficiency ratio=375/420*100

=89%
Labour capacity ratio=420/450=93%
Labour production volume ratio=375/450

=83%
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Accounting for Overheads

(Referring to Session 7)
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To reapportion service cost centre overheads to production cost centres there are 2 methods 
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The final step is to charge these overheads to cost units. This is called absorption. 
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Absorption and Marginal

Costing

(Referring to Session 8)
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Management Accounting (MA)

Section 5

(Referring to Session 9)
Job Costing

Batch Costing

Service Costing
Job = a cost unit of a single order/contract

Batch = a cost unit which consists of a separate, readily identifiable group of units

                                             Job XYZ
                                                 $
Direct materials
                                 X

Direct labour (hrs @ $/hr)
                         X

Variable overheads (hrs @ $/hr) 
                 X
Prime cost
                                     X

Fixed overheads
                                 X
Total cost
                                     X

Profit
                                         X
Selling price of job
                             X
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What are service organisations?

Don’t make or sell a tangible product 

Profit making or not-for-profit sector 

E.g. Accountancy firms, hotels, schools, hospitals

Service costing v. other product costing 

Cost of direct materials is small

Unit cost is difficult to calculate

Costing will vary from one service to another
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Service department costing

Cost of an ‘internal service’ 

Purposes of service department costing 

Control costs and efficiency

Prevent unnecessary use of services

What cost to charge to user dept 

No charge

Total actual cost

Standard absorption cost

Variable cost

Opportunity cost

Cost plus a margin for profit
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Management Accounting (MA)

Section 6

(Referring to Session 10)

Process Costing
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Scrap Value $20 each
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Scrap Value $20 each,but merchant pay $19
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Management Accounting (MA)

Section 7

(Referring to Session 11)

Alternative Costing Principles
Activity-Based Costing (ABC)
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Target Costing

[image: image139]

[image: image140]

[image: image141]
Life Cycle Costing
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Total Quality Management
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Management Accounting (MA)
Section 8
(Referring to Session 12,13,14)
Budgeting—Nature, Purpose and Behavioural Aspects

(Referring to Session 12)
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Budget period

Budget manual 

Budget committee
The budget committee is made up of key senior management personnel (e.g. directors and divisional executives) who are responsible for:
overall policy matters relating to the budgeting process; and
coordinating the preparation of the budget.

The committee:

resolves issues (particularly disputes) which arise in the setting of budgets; 

approves the final budget; and

receives periodic reports comparing actual progress with budgeted goals.* 
Behavioural Aspects Of Budgeting
Budgeting Approaches
Top-down budgeting: Budgets are prepared by senior management. In practice this is usually done through the finance department.

Bottom-up budgeting: Managers participate in the preparation of their department's budget. This usually means that they prepare the budgets for the department they are responsible for.

These budgets are then approved by senior management (usually after some negotiation and discussion).

Advantages of Participative Approach

Budget holders are more likely to accept and be committed to working towards targets which they have been involved in designing.

Budget holders will be more motivated and have higher morale if they are given more autonomy.

Budgets are more likely to be realistic, as they will be based on information from the managers who are most familiar with the areas concerned.
Disadvantages of Participative Approach

Managers may try to set targets which are too easy by incorporating "slack" (padding) into their budgets. Budgetary slack means adding expenses to the budget in excess of what is expected to be needed (or understating target revenues).

Setting the targets is likely to be more time consuming, which slows down the budget preparation process.

Setting of targets may not be fair as some budget holders will be better negotiators than others (e.g. in setting themselves more achievable targets).

Senior management may lose some control of the business as a result of delegating decision-making to local managers.

Less experienced management may make decisions which are not in line with the company's strategic plan.

Depending on the relative abilities and experience of senior and junior managers, participation could be argued to produce poor-quality decisions.

Statistical Techniques

(Referring to Session 13)

Linear Regression
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Advantages
It provides a much more accurate estimate than the high-low method (which uses only two pairs of data).

Any extreme values have less of an impact on the relationship calculated.

As a statistical model, it yields optimal results when the relationship between the independent and dependent variables is almost linear.

Disadvantages
Number of variables—only two variables are considered whereas a number of other variables may also be relevant.

Linearity—the relationship between variables may not be linear. The method will calculate a linear relationship even if it is non-linear.

Risk of extrapolation—estimating costs (or any other variable) for a level of activity outside the range of data is risky(because the same relationship may not still be relevant).

As with most estimation methods, the accuracy of the relationship will be limited by the amount of historic data available (and the accuracy of that data).

The relationship it yields may not be understood

Correlation Coefficient (r)

Coefficient of Determination (r2)
Time Series Analysis

Components of a Time Series

Trend (T)

Cyclical variation (C)

Seasonal variation (S)

Random elements (R)
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Budget Preparation

(Referring to Session 14)
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Different types of budgets

The Master Budget includes the budgeted income statement, the cash budget and budgeted statement of financial position (Balance Sheet).

A continuous budget is prepared for a year (or budget period) ahead, and is updated regularly by adding a further accounting period (month, quarter) when the first accounting period has expired (= Rolling Budgets).

Functional budgets
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Functional budgets

	Sales budget(principal budget factor)
	 
	Sales revenue for each product for the period 

Sales budget=expected number of units X planned selling price

	Production budget
	 
	Production levels for  product to enable budgeted sales volumes

Budgeted production=forecast sales + closing inventory of finished goods-opening inventory of finishes goods

	Material budgets
	Usage budgets
	Material required to produce production levels. Usually expressed as quantity of each material required.

Material usage budget=budgeted production for each product X quantity of material required to produce one unit 

	
	Purchases 

budgets
	Amount of material which needs to be purchased to meet production budget. Usually expressed as quantity and value of material to be purchased.

Material purchases budget=material usage budget + closing inventory-opening inventory

	Labour budget
	 
	Cost of labour required to produce budgeted production levels

Labour budget=number of hours required for the production X labour rate per hour


Functional budgets

	Overhead budget
	 
	Overhead costs to produce budgeted production levels

Budgeted level of activity X standard overhead rate

Where relevant activity is based on activity over which overheads are apportioned e.g. machine hours to produce budgeted production X production overheads per machine hour


Example

	Planned sales

Selling price

Opening inventory

Labour hours per unit

Machine hours per unit
	Product A

100 units

$40 

12units

2 hours

1hour
	Product B

200 units

$30 

202units

1 hour

3hour


Materials required:

Opening inventory

Requirement per unit of Product A

Requirement per unit of Product B

Purchase price per kg

The company plans to halve all inventory levels over the period.

Labour rate per hour=$10

Variable overhead rate=$1.50 per machine hour

Fixed overhead rate=$0.50 per machine hour
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Example - continued

	Sales budget(principal budget factor)
	[image: image257.emf][image: image258.emf]Sales units

Sales

revenue

	Production budget
	Sales(units)

Closing inventory(units)

Opening  inventory(units)

Budgeted production(units)
	Product A     Product B     

     100              200

       6                 10

     (12)              (20)

      94                190
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Cash Budgets

[image: image165.emf]
Budgeted Statement of Financial Position
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Fixed, flexible & flexed budgets
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Flexed Budgets and budget variances

Variances are differences arising between the original budget and actual results.
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Standard Costing and Variance Analysis

(Referring to Session 15, 16)
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Fixed, flexible & flexed budgets
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Flexed Budgets and budget variances

Variances are differences arising between the original budget and actual results.
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Management Accounting (MA)

Section 10

(Referring to Session 18,19)

Performance Measurement

(Referring to Session 18)

BALANCED SCORECARDS

Within each of these categories a company should seek to identify a series critical success factors (CSFs) and key performance indicators (KPls)

CSFs-those things we absolutely must get right to  succeed in relation to given perspective.

KPIS- ways in which we can measure the CSFs.
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BUILDING BLOCK MODEL

-FITZGERALD AND MOON

Fitzgerald et al adopted a framework for the design and analysis of performance management systems.

They based their analysis on three building blocks:

TDimensions –sources of CSFs

TStandards- KPls

TRewards-the incentives given to managers who achieve standards

1. Financial performance

Financial performance can be measured in terms of:

Profitability

Liquidity

Capital structure

Market ratios

2. Competitiveness

Competitiveness can be measured in terms of:

Sales growth

Market share

Conversion rate on enquiries-ability of marketing to new customers and retention of existing customers.
3. Flexibility

Flexibility concerns the organization’s ability to react quickly to changing customer

demands and the external environment.

Functional flexibility: the ability to re-deploy employees between different tasks.

Numerical flexibility: the ability to increase and decrease the number of employees to match peeks and troughs of works.

Financial flexibility: the ability to have the freedom to pay rate which reflect market conditions and not be constrained by pay differentials.
4. Resource utilization

Resource utilization can be measured by the ratio of outputs achieved from those resource inputs. There is trade-off between resource utilization, flexibility and innovation.
5. Quality of services

Quality of service is the totality of features and characteristics of service package that bear upon its ability to satisfy clients’ needs.

Flexibility and innovation in service provision may be key determinants of service quality.

There are twelve factors of service quality: Access/ Aesthetics/ Availability/ Cleanliness/ Comfort/ Communication/ Competence/ Courtesy/ Friendliness/ Reliability/ Responsiveness/ Security.
6. Innovation

Innovation should be viewed in terms of its impact on financial performance, competitiveness, service-quality, flexibility and resource utilization in the short, medium and long-term.

Innovation can be measured in terms of:

Proportion of old to new product

Time taken from conception to final production

Introduction of new business software
3 Es
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Divisional 

Performance Evaluation
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Management Accounting (MA)

Section 11

(Referring to Session 17)
Relevant costs and decision-making

(Referring to Session 17)
What is a relevant cost?
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e.g. need 500kg of material for new project have 300kg in stock (cost $3/kg)

current purchase price = $5/kg

scrap value = $1/kg

what’s the relevant cost of the 500kg?
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How to find the relevant cost of an asset
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ACCA F2
Management Accounting (MA)

Specimen Exam applicable from June 2014

Time allowed: 2 hours

This paper is divided into two sections:

Section A – ALL 35 questions are compulsory and MUST be attempted

Section B – ALL THREE questions are compulsory and MUST be attempted

The Association of Chartered Certified Accountants

Section A – 

ALL 35 questions are compulsory and MUST be attempted
QUESTION 1 

A manufacturing company benchmarks the performance of its accounts receivable department with that of a leading credit card company.

What type of benchmarking is the company using?

A Internal benchmarking

B Competitive benchmarking

C Functional benchmarking

D Strategic benchmarking
1 C
QUESTION 2 

Which of the following BEST describes target costing?

A Setting a cost by subtracting a desired profit margin from a competitive market price

B Setting a price by adding a desired profit margin to a production cost

C Setting a cost for the use in the calculation of variances

D Setting a selling price for the company to aim for in the long run
2 A
QUESTION 3 

Information relating to two processes (F and G) was as follows:
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For each process, was there an abnormal loss or an abnormal gain?

    Process F     Process G

A Abnormal gain  Abnormal gain

B Abnormal gain  Abnormal loss

C Abnormal loss  Abnormal gain

D Abnormal loss  Abnormal loss
3 C

QUESTION 4 

The following budgeted information relates to 

a manufacturing company for next period:
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The normal level of activity is 14,000 units per period.

Using absorption costing the profit for next period has been calculated as $36,000.

What would be the profit for next period using marginal costing?

A $25,000

B $27,000

C $45,000

D $47,000
4 B

QUESTION 5 

The Eastland Postal Service is government owned. The government requires it to provide a parcel delivery service to every home and business in Eastland at a low price which is set by the government. Express Couriers Co is a privately owned parcel delivery company that also operates in Eastland. 

It is not subject to government regulation and most of its deliveries are to large businesses located in Eastland’s capital city. You have been asked to assess the relative efficiency of the management of the two organisations.

Which of the following factors should NOT be allowed for when comparing the ROCE of the two organisations to assess the efficiency of their management?

A Differences in prices charged

B Differences in objectives pursued

C Differences in workforce motivation

D Differences in geographic areas served
5 C
QUESTION 6 

Under which sampling method does every member of the target population has an equal chance of being in the sample?

A Stratified sampling

B Random sampling

C Systematic sampling

D Cluster sampling
6 B
QUESTION 7 

A Company manufactures and sells one product which requires 8 kg of raw material in its manufacture. 

The budgeted data relating to the next period are as follows:
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What is the budgeted raw material purchases for next period (in kg)?

A 141,000

B 147,000

C 157,000

D 163,000
7 B
QUESTION 8

Which of the following graphs depicts the total cost of the raw materials for a period?
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8 D
QUESTION 9 

Which of the following are benefits of budgeting?

1 It helps coordinate the activities of different departments

2 It fulfils legal reporting obligations

3 It establishes a system of control

4 It is a starting point for strategic planning

A 1 and 4 only

B 1 and 3 only

C 2 and 3 only

D 2 and 4 only 
9 B
QUESTION 10 

The following statements relate to the participation of junior management in setting budgets:

1. It speeds up the setting of budgets

2. It increases the motivation of junior managers

3. It reduces the level of budget padding

Which statements are true?

A 1 only

B 2 only

C 2 and 3 only

D 1, 2 and 3
10 B
QUESTION 11

A company has a capital employed of $200,000. It has a cost of capital of 12% per year. Its residual income is $36,000.

What is the company’s return on investment?

A 30%

B 12%

C 18%

D 22%
11 A
QUESTION 12 

A company has calculated a $10,000 adverse direct material variance by subtracting its flexed budget direct material cost from its actual direct material cost for the period.

Which of the following could have caused the variance?

(1) An increase in direct material prices

(2) An increase in raw material usage per unit

(3) Units produced being greater than budgeted

(4) Units sold being greater than budgeted

A 2 and 3 only

B 3 and 4 only

C 1 and 2 only

D 1 and 4 only
12 C

QUESTION 13 

A company has recorded the following variances for a period:

Sales volume variance $10,000 adverse

Sales price variance $5,000 favourable

Total cost variance $12,000 adverse

Standard profit on actual sales for the period was $120,000.

What was the fixed budget profit for the period?

A $137,000

B $103,000

C $110,000

D $130,000
13 D
QUESTION 14 

Which of the following are suitable measures of performance at the strategic level?

(1) Return on investment

(2) Market share

(3) Number of customer complaints

A 1 and 2

B 2 only

C 2 and 3

D 1 and 3
14 A
QUESTION 15 

Which of the following are feasible values for the correlation coefficient?

1 +1·40

2 +1·04

3 0

4 –0·94

A 1 and 2 only

B 3 and 4 only

C 1, 2 and 4 only

D 1, 2, 3 and 4
15 B
QUESTION 16 

A company’s operating costs are 60% variable and 40% fixed.

Which of the following variances’ values would change if the company switched from standard marginal costing to standard absorption costing?

A Direct material efficiency variance

B Variable overhead efficiency variance

C Sales volume variance

D Fixed overhead expenditure variance
16 C
QUESTION 17 

ABC Co has a manufacturing capacity of 10,000 units. 

The flexed production cost budget of the company is as follows:

Capacity                60%  100%

Total production costs $11,280 $15,120

What is the budgeted total production cost if it operates at 85% capacity?

A $13,680

B $12,852

C $14,025

D $12,340
17 A
QUESTION 18 

Using an interest rate of 10% per year the net present value(NPV) of a project has been correctly calculated as $50.

If the interest rate is increased by 1% the NPV of the project falls by $20.

What is the internal rate of return (IRR) of the project?

A 7·5%

B 11·7%

C 12·5%

D 20·0%
18 C
QUESTION 19 

A factory consists of two production cost centres (P and Q) and two service cost centres (X and Y). The total allocated and apportioned overhead for each is as follows:

    P     Q       X       Y

$95,000 $82,000 $46,000 $30,000

It has been estimated that each service cost centre does work for other cost centres in the following proportions:

                                   P Q   X  Y

Percentage of service cost centre X to 50 50  –   –

Percentage of service cost centre Y to 30 60 10  –

The reapportionment of service cost centre costs to 

other cost centres fully reflects the above proportions.

After the reapportionment of service cost centre costs has been carried out, what is the total overhead for production cost centre P?

A $124,500

B $126,100

C $127,000

D $128,500
19 D
QUESTION 20 

A company always determines its order quantity for a raw material by using the Economic Order Quantity (EOQ) model.

What would be the effects on the EOQ and the total annual holding cost of a decrease in the cost of ordering a batch of raw material?

   EOQ    Annual holding cost

A Higher Lower

B Higher Higher

C Lower Higher

D Lower Lower
20 D
QUESTION 21 

A company which operates a process costing system had work-in-progress at the start of last month of 300 units (valued at $1,710) which were 60% complete in respect of all costs. Last month a total of 2,000 units were completed and transferred to the finished goods warehouse. 

The cost per equivalent unit for costs arisinglast month was $10. The company uses the FIFO method of cost allocation.

What was the total value of the 2,000 units transferred to the finished goods warehouse last month?

A $19,910

B $20,000

C $20,510

D $21,710
21 A
QUESTION 22

A manufacturing company operates a standard absorption costing system. Last month 25,000 production hours were budgeted and the budgeted fixed production cost was $125,000. Last month the actual hours worked were 24,000 and standard hours for actual production were 27,000.

What was the fixed production overhead capacity variance for last month?

A $5,000 Adverse

B $5,000 Favourable

C $10,000 Adverse

D $10,000 Favourable
22 A
QUESTION 23 

The following statements have been made about value analysis.

(1) It seeks the lowest cost method of achieving a desired function

(2) It always results in inferior products

(3) It ignores esteem value

Which is/are true?

A 1 only

B 2 only

C 3 only

D 1 and 3 only
23 A
QUESTION 24 

Under which of the following labour remuneration methods will direct labour cost always be a variable cost?

A Day rate

B Piece rate

C Differential piece rate

D Group bonus scheme
24 B
QUESTION 25 

A company manufactures and sells a single product. In two consecutive months the following levels of production and sales (in units) occurred:

             Month 1          Month 2

Sales         3,800            4,400

Production    3,900            4,200

The opening inventory for Month 1 was 400 units. Profits or losses have been calculated for each month using both absorption and marginal costing principles.

Which of the following combination of profits and losses for the two months is consistent with the above data?

Absorption costing profit/(loss) Marginal costing profit/(loss)

     M 1             M 2             M 1              M 2

      $                $              $                 $

A   200             4,400           (400)             3,200

B   (400)            4,400           200              3,200

C   200             3,200           (400)             4,400

D   (400)            3,200           200              4,400
25 C
QUESTION 26 

The following statements relate to the advantages that linear regression analysis has over the high low method in the analysis of cost behaviour:

1. the reliability of the analysis can be statistically tested

2. it takes into account all of the data

3. it assumes linear cost behaviour

Which statements are true?

A 1 only

B 1 and 2 only

C 2 and 3 only

D 1, 2 and 3
26 B
QUESTION 27 

A company operates a process in which no losses are incurred. The process account for last month, when there was no opening work-in-progress, was as follows:

Process Account
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The closing work in progress was complete to the same degree for all elements of cost.

What was the percentage degree of completion of the closing work-in-progress?

A 12%

B 30%

C 40%

D 75%
27 D
QUESTION 28 

Which of the following would not be expected to appear in an organisation’s mission statement?

A The organisation’s values and beliefs

B The products or services offered by the organisation

C Quantified short term targets the organisation seeks to achieve

D The organisation’s major stakeholders
28 C

QUESTION 29 

An organisation operates a piecework system of remuneration, but also guarantees its employees 80% of a time-based rate of pay which is based on $20 per hour for an eight hour working day. Three minutes is the standard time allowed per unit of output. 

Piecework is paid at the rate of $18 per standard hour.

If an employee produces 200 units in eight hours on a particular day, what is the employee’s gross pay for that day?

A $128

B $144

C $160

D $180
29 D
QUESTION 30 

A company uses an overhead absorption rate of $3·50 per machine hour, based on 32,000 budgeted machine hours for the period. During the same period the actual total overhead expenditure amounted to $108,875 and 30,000 machine hours were recorded on actual production.
By how much was the total overhead under or over absorbed for the period?

A Under absorbed by $3,875

B Under absorbed by $7,000

C Over absorbed by $3,875

D Over absorbed by $7,000
30 A

QUESTION 31 

Which of the following statements relating to management information are true?

1. It is produced for parties external to the organisation

2. There is usually a legal requirement for the information to be produced

3. No strict rules govern the way in which the information is presented

4. It may be presented in monetary or non monetary terms

A 1 and 2

B 3 and 4

C 1 and 3

D 2 and 4
31 B
QUESTION 32 

A company’s sales in the last year in its three different markets were as follows
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In a pie chart representing the proportion of sales made by each region what would be the angle of the section representing Market 3 (to the nearest whole degree)?

A 17 degrees

B 50 degrees

C 61 degrees

D 120 degrees
32 C

QUESTION 33 

Which of the following BEST describes a flexible budget?

A   A budget which shows variable production costs only

B   A monthly budget which is changed to reflect the number of days in the month

C   A budget which shows sales revenue and costs at different levels of activity

D   A budget that is updated halfway through the year to incorporate the actual results for the first half of the year
33 C
QUESTION 34 

The purchase price of an item of inventory is $25 per unit. In each three month period the usage of the item is 20,000 units. The annual holding costs associated with one unit equate to 6% of its purchase price. The cost of placing an order for the item is $20.

What is the Economic Order Quantity (EOQ) for the inventory item to the nearest whole unit?

A 730

B 894

C 1,461

D 1,633
34 C
QUESTION 35 

Two products G and H are created from a joint process. G can be sold immediately after split-off. H requires further processing into product HH before it is in a saleable condition. 

There are no opening inventories and no work in progress of products G, H or HH. The following data are available for last period:
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Using the physical unit method for apportioning joint production costs, what was the cost value of the closing inventory of product HH for last period?

A $16,640

B $18,625

C $20,000

D $21,600
35 C
Section B – 

ALL THREE questions are compulsory and MUST be attempted

1 

Required:

(a) State whether each of the following items are relevant or irrelevant cash flows for a net present value (NPV) evaluation of whether to introduce the computerised tracking system.

(i) Computerised tracking system investment of $2,100,000;

(ii) Depreciation of $420,000 in each of the five years;

(iii) Staff training costs of $425,000;

(iv) New staff total salary of $120,000 per annum;

(v) Staff training costs of $75,000;

(vi) Interest cost of $150,000 per annum.

(b) Calculate the following values if the computerised tracking system is implemented.

(i) Incremental sales in Year 1;

(ii) Savings in vehicle running costs in Year 1;

(iii) Present value of the maintenance costs over the life of the contract.

(c) Cab Co wishes to maximise the wealth of its shareholders. 

It has correctly calculated the following measures for the proposed computerised tracking system project:

– The internal rate of return (IRR) is 14%,

– The return on average capital employed (ROCE) is 20% and

– The payback period is four years.

Required:

Which of the following is true?

A The project is worthwhile because the IRR is a positive  value

B The project is worthwhile because the IRR is greater than  the cost of capital

C The project is not worthwhile because the IRR is less than  the ROCE

D The project is not worthwhile because the payback is less  than five years

2

Required:

(a) Which formula will correctly calculate the direct labour efficiency variance in cell B18?

A = (C9*C4)- B13

B =B13-(C9*C4)

C = (C9*C4)- (150,000*8)

D =(150,000-(C9*6))*8

(b) Calculate the following for month 1:

(i) Sales volume variance and state whether it is favourable or adverse;

(ii) Sales price variance and state whether it is favourable or adverse.

(c) Castilda’s management accountant thinks that the direct labour rate and efficiency variances for Month 1 could be interrelated.

Required:

Briefly explain how the two direct labour variances could be interrelated.

3

Required:

(a) Calculate the following ratios and other statistics for Nicholson Co for the year ended 30 November 2013.

(i) Return on capital employed;

(ii) Return on sales (net profit percentage);

(iii) Asset turnover;

(iv) Average wait for telephone repair (in days);

(v) Percentage of customers lost per annum;

(vi) Percentage of sales attributable to new 

(c) A balanced scorecard measures performance from four perspectives: customer satisfaction, growth, financial success and process efficiency.

Required:

Briefly explain any ONE of the four perspectives above.

Present Value Table

Present value of 1 i.e. (1 ＋ r)–n

Where r ＝ discount rate

           n ＝ number of periods until payment
Discount rate (r)

Periods
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Annuity Table

Present value of an annuity of 1 i.e.

Where r ＝ discount rate

      n ＝ number of periods
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Product A


100


100· $ 40=


$4,000








Total


300 units


$10,000








Product B     


200


200· $ 30=


$6,000














[image: image259.emf][image: image260.emf][image: image261.emf][image: image262.emf][image: image263.emf][image: image264.emf][image: image265.png]Objectives of a budgetary planning and control system are as follows:

. To ensure achievement of objectives

. To compel planning

. To communicate ideas and plans

. To co-ordinate activities

. To provide a framework for responsibility accounting
. To establish a system of control

. To motivate employees to improve their performance.



[image: image266.emf][image: image267.png]v/ It encourages management to plan the pricing strategy for

the whole product life, rather than on a short-term basis.

v/ Identifying the costs which will be incurred throughout

the product's life means that management will be able to
understand and, therefore, control them better.

Monitoring a product's revenues and costs on a cumulative
basis over the life of the product provides more meaningful
information for control than monitoring costs and revenues
on a period-by-period basis.

It is much easier to "design out costs" during the design
phase of a product than to "control out costs" later in the
product’s life cycle. By considering the whole life cycle at
the design phase, management is more likely to achieve
reasonable cost base and, therefore, reasonable profits.

Decisions whether to continue to develop and
manufacture products will be based on more complete
information avoiding the risk that potentially profitable
products will be scrapped in the development phase
because they do not yet generate revenues.

Life cycle costing is particularly relevant for considering
environmental "clean-up” costs, which may be substantial.
In the European Union, the End of Life Vehicles (ELV) Directive
makes it compulsory for car manufacturers

to collect and dispose of old cars. Such costs should
therefore be considered by manufacturers during life-cycle
costing exercises.



[image: image268.emf][image: image269.emf][image: image270.emf][image: image271.png]Redesign to eliminate non-value added elements;

Reduce the number of components or standardising
components;

Use less expensive materials;

Employ a lower grade of worker on production;

Invest in new technologies;

Outsource elements of the production or support activities;
Reduce manning levels or redesigning the work flow.
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process Il

Normal loss in process Il is 10% of good output and has no scrap value. Output from process Il is
900 units.

Other inputs to process |l are:

Added materials $20,600
Conversion $35,000
Required

Prepare appropriate ledger accounts given the above information.



[image: image284.wmf][image: image285.png]As before, but output to Process Il is 880 units not 900 units as expected.
Required

Prepare appropriate ledger accounts



[image: image286.png]Required

Prepare the Process and Scrap ledger accounts for the following situations using data as in
Lecture example 1



[image: image287.png]Input and costs same as in Lecture example 1
Losses normally account for 10% of input.
Output was 900 units.

Required

Prepare the Process | ledger account



[image: image288.png]Input to Process | during a period was 1,000 units of raw materials, cost $40,000.
Other costs were: labour — $50,000, overheads — $20,000.

All output was transferred to Process 1.

Required

Complete the process account.



[image: image289.png]Process costing is a costing system used in situations where goods or services are
produced in a series of processes. The essence of process costing involves the averaging
of the total costs of each process over the total output of that process.

Itis not an alternative to absorption costing or marginal costing.

Examples of processes where process costing may be used are:

Oil refining

. Paper

Food and drink
Chemicals

.



[image: image290.png]In the last year the following information was collected:

Total kg of excess baggage carried 100,000 kg

Total miles excess baggage carried 30,000 miles
Total cost incurred (eg extra fuel) $5m
Required

What is the cost of carrying an extra 3kg an extra 7,500 miles?
Workings
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Cost card per unit

$

Direct materials 7

Direct wages 8

Variable production overheads 5

20

There is a variable selling cost per unit of $0.50.

Year 1 Year 2!
units units
Normal/budgeted production 12,000 12,0001
Actual production 14,000 11,5001
Actual sales 13,000 12,5001
Actual fixed production overheads $11,000 $11,0001
Actual fixed selling costs $5,000 $5,0001

There is no opening inventory. All variable costs were as per budget for the two years.
Required

Set out a profit and loss account under marginal costing for both years 1 and 2
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(actual wages) X | (direct labour) X
(3) Production overheads X

(indirect labour)

Income Statement X

<1
=<1
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Normal Basic Pay Direct Cost Indirect Cost
General Production: Overtime Direct Cost Indirect Cost
— Basic pay element

General Production: Overtime Indirect Cost Indirect Cost
— O/T Premium

General Non Production Indirect Cost Indirect Cost
Overtime — Basic pay element

General Non Production Indirect Cost Indirect Cost
Overtime — O/T Premium

Specific Overtime — Basic pay Direct Cost Direct Cost
element

Specific Overtime — O/T Direct Cost Direct Cost

Premium
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[image: image330.emf][image: image331.emf][image: image332.emf][image: image333.emf][image: image334.png]Materials purchased will be recorded in the accounting books of a company as follows.
(1) When a purchase is made  or an invoice received

Dr  Materials account Dr  Materials account

Cr  Cash account Cr Creditors account

(2) When an issue is made to a production process
Dr Production process
Cr Materials inventory



[image: image335.png]Delivery note/goods received note Goods received note

(GRN) Date No
Time
. Received with the goods Out order no
Supplier no.
into the stores department
Quantity | No./Code Description

. Signed off to confirm
quantity and quality

. Sent to:

Received in good condition
- purchasing department

- accounts department
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* When the stores department need
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